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1) Plot and join these coordinates
   A(4,1)   B(3,4)   C(0,3)   D(1,0)
   The shape is a…
2) What is the coordinate of the 

   4th vertex of the parallelogram:

   E(-1,1)   F(2,-3)   G(0,-4)   H(?,?)

3) Plot to find the midpoint of the 
   line joining J(-4,-2) & K(0,3)



Find the midpoint of the line AB
given only the coordinates
Midpoint coordinates:
1) Find the midpoint of the line CD given C(5,2) & D(2,-8)
2) Given point E(5,2) and the midpoint of line EF is (-3,-4) find the coordinates of point F

3) Divide the line G(-3,2) & H(6,14) into three parts. Give the coordinates of the two division points.


Find the length of the line AB
given only the coordinates

Length = 
1) Find the length of the line CD given C(5,2) & D(2,6)

2) Find the perimeter of the triangle EFG given  E(1,3)  F(1,7)  &  G(8,3)

3) a) Prove triangle KLM is isosceles given  K(3,-1)  L(-1,1)  M(1,3)
    b) Find the length of the line joining L with the midpoint of side KM


1) Find the coordinates of the 

     midpoint and length of line AB

     given A(-2,-4)  &  B(3,2)

2) What is the coordinate of the 

   4th vertex of the kite:

   E(4,2)   F(2,5)   G(?,?)   H(0,-5)

3) How much longer is diagonal FH

    than diagonal EG?

4) What are the coordinates of the 

   point where the diagonals intersect?


Find the gradient of the line AB

given only the coordinates

Gradient = 
1) Find the gradient of the line CD 
     given C(5,2) & D(2,-8)

2) The line joining F(-2,4) and G(4,?) has 

     a gradient of 2.  Find ?

3) A triangle KLM has vertices K(5,3)  L(1,8) & M(-2,-3)

     Find the gradient of the line joining vertex M 

     with the midpoint of the opposite side

4) The gradient of the line joining (3,4) to (x,7) is ‘x – 1’
     Form a quadratic to find the possible values of ‘x’

Sketching from equations in the form y = mx + c

     m is the gradient of the line.  c is the y intercept of the line.

Sketch:
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Sketching from equations in the form ax + by + c = 0

     x intercept put y = 0                       y intercept put x = 0    

Sketch:
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Midpoint of a line segment
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Sketching graphs (review)
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